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Verbal Ability and Comprehension

(1-5)Directions - Read each sentence to find out whether there is any grammatical error in it.
The error, if any will be in one part of the sentence. The letter of that part is the answer. If there
is no error, the answer is 'D'. (Ignore the errors of punctuation, if any).

1) (solve as per the direction given above)

A)We discussed about the problem so thoroughly
B)on the eve of the examination
C)that I found it very easy to work it out.
D)No error.

Answer: A

Explanation: We discussed the problem so thoroughly

2) (solve as per the direction given above)

A) An Indian ship
B) laden with merchandise
C) got drowned in the Pacific Ocean.
D) No error.

Answer: C

Explanation: sank in the Pacific Ocean

3) (solve as per the direction given above)

A) I could not put up in a hotel
B) because the boarding and lodging charges
C) were exorbitant.
D) No error.

Answer: A
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Explanation: 'I could not put up at a hotel'

4. (solve as per the direction given above)

A) The Indian radio
B) which was previously controlled by the British rulers
C) is free now from the narrow vested interests.
D) No error.

Answer: C

Explanation: is now free from the narrow vested interests.

5) (solve as per the direction given above)

A) If I had known
B) this yesterday
C) I will have helped him.
D) No error.

Answer: C

Explanation: I would have helped him

(6-8)Directions- I felt the wall of the tunnel shiver. The master alarm squealed through my
earphones. Almost simultaneously, Jack yelled down to me that there was a warning light on.
Fleeting but spectacular sights snapped into and out of view, the snow, the shower of debris, the
moon, looming close and big, the dazzling sunshine for once unfiltered by layers of air. The last
twelve hours before re-entry were particular bone-chilling. During this period, I had to go up into
the command module. Even after the fiery re-entry splashing down in 81o water in the south
pacific, we could still see our frosty breath inside the command module.
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6) The word 'Command Module' used twice in the given passage indicates perhaps that it deals
with

A) an alarming journey
B) a commanding situation
C) a journey into outer space
D) a frightful battle.

Answer: C

7)  Which one of the following reasons would one consider as more as possible for the warning
lights to be on?

A) There was a shower of debris.
B) Jack was yelling.
C) A catastrophe was imminent.
D) The moon was looming close and big.

Answer: C

8) The statement that the dazzling sunshine was "for once unfiltered by layers of air" means

A) that the sun was very hot
B) that there was no strong wind
C) that the air was unpolluted
D) none of above

Answer:  D

(9-10) Directions- But I did not want to shoot the elephant. I watched him beating his bunch of
grass against his knees, with the preoccupied grandmotherly air that elephants have. It seemed
to me that it would be murder to shoot him. I had never shot an elephant and never wanted to.
(Somehow it always seems worse to kill a large animal) Besides, there was the beast's owner to
be considered. But I had got to act quickly. I turned to some experienced-looking Burmans who
had been there when we arrived and asked them how the elephants had been behaving. They
all said the same thing; he took no notice of you if you left him alone, but he might charge if you
went too close to him.
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9) The phrase 'Preoccupied grandmotherly air' signifies

A) being totally unconcerned
B) pretending to be very busy
C) a very superior attitude
D) calm, dignified and affectionate disposition

Answer: D

10) From the passage it appears that the author was

A) an inexperienced hunter
B) kind and considerate
C) possessed with fear
D) a worried man

Answer: B

Data Interpretation

(11- 15) Study the following table and answer the questions based on it.

Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Year Item of Expenditure

Salary Fuel and Transport Bonus Interest on Loans Taxes

1998 288 98 3.00 23.4 83

1999 342 112 2.52 32.5 108

2000 324 101 3.84 41.6 74

2001 336 133 3.68 36.4 88

2002 420 142 3.96 49.4 98
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11) What is the average amount of interest per year which the company had to pay during this
period?

A) Rs. 32.43 lakhs

B) Rs. 33.72 lakhs

C) Rs. 34.18 lakhs

D) Rs. 36.66 lakhs

Answer: D

12) The total amount of bonus paid by the company during the given period is approximately
what per cent of the total amount of salary paid during this period?

A) 0.1%

B) 0.5%

C) 1%

D) 1.25%

Answer: C

13) Total expenditure on all these items in 1998 was approximately what percent of the total
expenditure in 2002?

A) 62%

B) 66%

C) 69%

D) 71%

Answer: C
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14) The total expenditure of the company over these items during the year 2000 is?

A) Rs. 544.44 lakhs

B) Rs. 501.11 lakhs

C) Rs. 446.46 lakhs

D) Rs. 478.87 lakhs

Answer: A

15) The ratio between the total expenditure on Taxes for all the years and the total expenditure
on Fuel and Transport for all the years respectively is approximate?

A) 4:7

B) 10:13

C) 15:18

D) 5:8

Answer: B

(16- 20) Study the following line graph and answer the questions.

Exports from Three Companies Over the Years (in Rs. crore)
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16) For which of the following pairs of years the total exports from the three Companies together
are equal?

A) 1995 and 1998

B) 1996 and 1998

C) 1997 and 1998

D) 1995 and 1996

Answer: D
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17) Average annual exports during the given period for Company Y is approximately what per
cent of the average annual exports for Company Z?

A) 87.12%

B) 89.64%

C) 91.21%

D) 93.33%

Answer: D

18) In which year was the difference between the exports from Companies X and Y the
minimum?

A) 1994

B) 1995

C) 1996

D) 1997

Answer: C

19) What was the difference between the average exports of the three Companies in 1993 and
the average exports in 1998?

A) Rs. 15.33 crores

B) Rs. 18.67 crores

C) Rs. 20 crores

D) Rs. 22.17 crores

Answer: C
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20) In how many of the given years, were the exports from Company Z more than the average
annual exports over the given years?

A) 2

B) 3

C) 4

D) 5

Answer: C

Quantitative Ability

21) The value of Apti Simplification=?

A)98

B)35

C) 350

D)None of these.

Answer: D

22) Apti Simplification=?

A) 45

B) 81

C) 405

D) 25

Answer: D
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23) Apti Simplification=?

A)11

B) 12

C) 13

D) None of these.

Answer: C

24) If Suresh borrows Rs. 36000 from Mahesh at a rate of interest of 6% S.I, at the end of four
years how much interest Suresh has to pay along with the principal amount?

A) Rs. 12560

B) Rs. 12960

C) Rs. 13500

D) Rs. 14500

Answer - B

25)If A lends Rs. 4500 to B at 8% per annum and B lends the same sum to C at 10% per
annum, find the gain of B in a period of 3 years.

A) Rs. 220

B) Rs.240

C) Rs. 250

D) Rs.270

Answer - D
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26) A: B: C is in the ratio of 3: 2: 5. How much money will C get out of Rs 1260?

A) 252

B) 125

C) 503

D) None of these

Answer: D

27) If a: b is 3: 4 and b: c is 2: 5. Find a: b: c.

A) 3: 2: 5

B) 3: 6: 5

C) 3: 4:10

D) 2: 3: 4

Answer: C

28) What is the average of the first five multiples of 12?

A) 36

B) 38

C) 40

D) 42

Answer:  A
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29) Average of five numbers is 20. If each number is multiplied by 2, what will be the new
average?

A) 30

B) 40

C) 50

D) 60

Answer: B

30) 10 typists can type 600 pages in 8 hours. Find the average number of pages typed by each
typist in an hour.

A) 7 pages

B) 7.5 pages

C) 8 pages

D) 8.5 pages

Answer: B

General Awareness

31) Grand Central Terminal, Park Avenue, New York is the world's

A) largest railway station

B) highest railway station

C) longest railway station

D) None of the above

Answer: A
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32)Entomology is the science that studies

A) Behavior of human beings

B) Insects

C) The origin and history of technical and scientific terms

D) The formation of rocks

Answer: B

33) Eritrea, which became the 182nd member of the UN in 1993, is in the continent of

A) Asia

B) Africa

C) Europe

D) Australia

Answer: B

34) Garampani sanctuary is located at

A) Junagarh, Gujarat

B) Diphu, Assam

C) Kohima, Nagaland

D) Gangtok, Sikkim

Answer: B
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35) For which of the following disciplines is Nobel Prize awarded?

A) Physics and Chemistry

B) Physiology or Medicine

C) Literature, Peace and Economics

D) All of the above

Answer: D

36) Hitler party which came into power in 1933 is known as

A) Labour Party

B) Nazi Party

C) Ku-Klux-Klan

D) Democratic Party

Answer: B

37) FFC stands for

A) Foreign Finance Corporation

B) Film Finance Corporation

C) Federation of Football Council

D) None of the

Answer: B
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38) Fastest shorthand writer was

A) Dr G. D. Bist

B) J.R.D. Tata

C) J.M. Tagore

D) Khudada Khan

Answer: A

39) Epsom (England) is the place associated with

A) Horse racing

B) Polo

C) Shooting

D) Snooker

Answer: A

40) First human heart transplant operation conducted by Dr. Christiaan Barnard on Louis
Washkansky, was conducted in

A) 1967

B) 1968

C) 1958

D) 1922

Answer: A
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Logical Reasoning

41)Which word does NOT belong with the others?

A) parsley

B) basil

C) dill

D) mayonnaise

Answer: D

42) Which word does NOT belong with the others?

A) inch

B) ounce

C) centimetre

D) yard

Answer: B

43) Which word does NOT belong with the others?

A) tyre

B) steering wheel

C) engine

D) car
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Answer: D

(44 - 45) Each problem consists of three statements. Based on the first two statements, the third
statement may be true, false, or uncertain.

44) Tanya is older than Eric.

Cliff is older than Tanya.

Eric is older than Cliff.

If the first two statements are true, the third statement is

A) true

B) false

C) uncertain

Answer: B

45) Blueberries cost more than strawberries.

Blueberries cost less than raspberries.

Raspberries cost more than strawberries and blueberries.

If the first two statements are true, the third statement is

A) true

B) false

C) uncertain

Answer: A
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(46- 48) Directions - In each of the questions below consists of a question and two statements
numbered I and II given below it. You have to decide whether the data provided in the
statements are sufficient to answer the question. Read both the statements and Give answer

(A) If the data in statement I alone are sufficient to answer the question, while the data in
statement II alone are not sufficient to answer the question

(B) If the data in statement II alone are sufficient to answer the question, while the data in
statement I alone are not sufficient to answer the question

(C) If the data either in statement I alone or in statement II alone are sufficient to answer the
question

(D) If the data given in both statements I and II together are not sufficient to answer the question
and

(E) If the data in both statements I and II together are necessary to answer the question.

46) Question: In which year was Rahul born?

Statements:

i) Rahul at present is 25 years younger to his mother.

ii) brother, who was born in 1964, is 35 years younger to his mother.

A) I alone is sufficient while II alone is not sufficient

B) II alone is sufficient while I alone is not sufficient

C) Either I or II is sufficient

D) Neither I nor II is sufficient

E) Both I and II are

Answer: E
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47) Question: What will be the total weight of 10 poles, each of the same weight?

Statements:

i) One-fourth of the weight of each pole is 5 kg.

ii) The total weight of three poles is 20 kilograms more than the total weight of two poles.

A) I alone is sufficient while II alone is not sufficient

B) II alone is sufficient while I alone is not sufficient

C) Either I or II is sufficient

D) Neither I nor II is sufficient

E) Both I and II are

Answer: C

48) Question: How many children does M have?

Statements:

i) H is the only daughter of X who is wife of M.

ii) K and J are brothers of M.

A) I alone is sufficient while II alone is not sufficient

B) II alone is sufficient while I alone is not sufficient

C) Either I or II is sufficient

D) Neither I nor II is sufficient

E) Both I and II are sufficient

Answer: D
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(49- 50)Directions - Three of the words will be in the same classification, the remaining one will
not be. Your answer will be the one word that does NOT belong in the same classification as the
others.

49) Which word does NOT belong with the others?

A) guitar

B) flute

C) violin

D) None

Answer: B

50) word does NOT belong with the others?

A) dodge

B) flee

C) duck

D) avoid

Answer: B
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